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SOLVED FPSC PATROL OFFICER PAPER 2018 (15 JULY)

1. We gave a meal:

2. Don't won | be there.

3. What is the name of the man [WHO| gave the gift?

4. | just have to take the dog out of the bad weather.

5. SOMEONE |has left the bicycle outside.

6. The house |ITSELF|is small but garden is enormous.

7. Everyone complain [l_\BOUI]F the awful food.

8. | couldn't decide WHETHER]| to buy bananas or apples.

9. WHETHER] it rains | will be pick you up at,6:00am.

10. Here is my report F finished it at last.

11. He went to Scotland [TO PLAY GOLF|. & v Wetoppers
12. | enjoyed the Disco; it was great, | WASN'T IT |

13. My arms are aching now as [ HAVE BEEN| swimming since 2 hours.

14. The shop didn't have [WHAT]| | wanted.
15. Sentence like: A crowded bus drove ahead of speeding car: [PARTICIPLE ADJECTIVES]

16. | suppose that they would accept it: [Clause

17. There was a sentence with use of: [Noun Clause|
18. English: There was a sentence with use of: [HAD|------- | WOULD HAVE]

19. One must connect red wire with [POSITIVE| while connecting car’s battery.
20. If | add water in syrup, | am |DILUTING ITi].

21. The north pole of magnet attract: |SOUTH END|

22. Radio waves are IFASTEﬁl than light wave.

25. Atom bomb radiates: [GAMMA RAYS| « " Wetoppers
26. Light travels at rate of? |30, 0000 km/3|

27. Solar panel converts Radiations to electricity through? |Chemical Reactions |
28. Smoke of Sailing boat traveling from---to---? [None of these| (Sailing boat has no smoke)

29. Airship flies owing to? [LIGHTER WEIGHT THAN AlR|

30. The boiling point of water is: {212 FAHRENHEIT] Wetoppers
31. A steam engine runs by [HEAT TO MECHANICAL ENERGY CONVERTS.|

32. Fish survives in ice water because of: |BUOYANTIC FORCE OF WATER)|
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SOLVED FPSC PATROL OFFICER PAPER 2018 (15 JULY)

Wetoppers
33. A steel pin sink in water but sheep doesn’t because of: [DISPLACEMENT OF [WATER]
37. A nuclear bomb contains [RADIATIONS] in its core.
38. One molecule of water has: [2 HYDROGENT & 1 OXYGEN|
39. Indus rivers passes through: | Skardu, Jaglot and Kalabagh]
40. ATR42 has engines? [2] Wetopp.
41. Pakistan imports tin and palm oil from7
42. Pakistan detonated nuclear bombs in? [CHAGHI HILLS
43. CPEC Connects Gwadar with? [CHINA|
44. Winter Rains are brought in Pak by? \WESTERN DISTRIBUTIONSI
45. NEW Lake in Gilgit Baltistan? [ATTABAD LAKE|
46. Globalization In Pakistan means? |ACCESS OF PAKISTANI. PRODUCTS TO INTERNATIONAL MARKET]
47. Indo-Pak war started on: |6 SEPTEMBER 1965 |
48. Terrorist attacks were controlled on Iarge by operation? [ZARB-E-AZAB]|
49. Major power projects on nverJheIum are? (NELUM JHELUM|
50. Tarbela Dam generates electricity by? [TURBINES|

51. PSL 2018 was by was won by: ISLAMABAD UNITED|

53. PSL 2018 final was played B/W? [PESHAWAR ZALMI & ISLAMABAD UNITED |

54. Warsak Dam has been built on? |RIVER KABUL |

55. Mangla Dam is located on? [RIVER JHELU M|

56. Simla is a resort in: |INDII_\| ‘ Wetoppers

57. Complete the series: 1, 1/4, 1/9, 1/16 1/25

59. Complete the series: 4,9,16, 25, 49 ? |64

60. A question was about a number divided by?

61. What come next: 3, 6, 9: - ehios! Wetoppers

62. The highest number divisible by 3 in thlS series is: .

63. The highest number which can be made by the given series 7, 3,4, 5 2 is: (75432
64. If four cars run 800 km each in 8 hours. One car will run? ]
65. If you are in a line at third number from both sides. Total number of people inline is: @

SOLVED FPSC PATROL OFFICER PAPER 2018 (15 JULY)

67. Find two numbers from the series which are divisible by 11 and theirsur s 44?11, 33
68. The sum of two numbers is 96; one number is equal to the difference of both.
Find numbers: [64,][32]

69. Find the number whose square and cubes are the same?

70. The batting side has scored 51 in 6 overs. What will be total score in 20 overs?[170]
71. Total of 1.5 and 2.5 is: [4]

73. If wheat sells 1600 for 40 kg. What will be price of 5 kg? [200]

74. If a number is divided by 6 and 50 is added to it and sum becomes 60. Find

number: [60] Liers

75. Find the odd number out. 8, 16, 24, 34, 40, 48:

76. If one sack of wheat is 100 kg and how many sacs will.make it 1 metric ton?

77. Math—a question was like: 2 sides of triangle were given. 3™ side was to be calculated.
79. Math---a question was like: Find Minar's Areal dlstance etc.

80. Population of China is: 55 B ) A i o o4 & O g Vetoppers

81. UN Security has [5] permanent members.
82. Airplane take lift because of: [Special Work Of Air On Its Wings |
83. Yemen is located at [SOUTH]| of Saudi Arabia.
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84. Steel Bar is magnetized by: [magnetic effect of electric current]
85. Country with no standing army is: ANDORA|
87. Siberia in Russian Federation is part of : [ASIAN CONTINENT
88. Recent Tension between Russia & USA is due to: [KILLING OF RUSSIAN AGENT |
[IN EUROPE|
89. First mosque built by prophet (PBUH) was:

90. The second major battle of Islam against Quraish was:

91. Hajj is performed on: |10 ZILHAJ)|

92. What is Qiyas: JANALOGICAL REASONING IN ISLAMIC JURISPRUDENCE]|
93. Mudarba is: |SHARE OF PROFIT OR LOSS IN BUSINESS
94. Southernmost country of Africa is: {SOUTHAFRICA
95. Laws in Pakistan are based on:{QURAN-& SUNNAH
96. If | had one million pound, [| WOULD HAVE BOUGHT A YATCHT.]

97. Iran has allowed India commercial use of port: |[CHAH BAHAR|

98. Name of country which has driven out Rohingya Muslims as refugees?
99. Internal strife in Sri Lanka in 1980s was brought by: |LTTE

100. UK’s policy to exit European Union is called: [BREXIT]

T CEmm
Patrol Officer
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JUNIOR PATROL OFFICERS (NH & MP) PAPER 2017
SUITABLE PREPOSITIONS

1. He is indebted|to] his friend for a large sum.

2. | saw a man on the road sidelooked like my uncle.

3. He is so impatient with good advice that | despair [ofjmaking any impression on him.
4. She could not arriveany conclusion.

CORRECT TENSES etoppers
5. She|loves|her cat very much.
6. He[is|going to school. IF You need more past papers like this page
7. They|golto sleep at night Facebook.com/CSSTopers

8. I[@mjwaiting here for my friends.
9. |am sick[at|heart.
ACTIVE AND PASSIVE VOICE —
10. Amjad plays football: [Football is played by Amjad|
11. | eat mangoes: [Mangoes are eaten by me
12. | am making tea: Tea is being made by me|
13. We are writing a book:[A book is being written by us]
14. Did | give her a gift? :|Was a gift given to her by me?|
15. He says, ‘| am ill.”:[He says that he is ill|
16. They say, “We're the students of English class.”:|[They say that they are the|
|students of English class|
17. The gardener will say, “| am watering the plants.” : The gardener will say that he
will be watering the plants.
18. The mother said to her son, “You are a lazy boy.” : The mother told her son that he
was a Iazy boy etoppers
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19. The boys said to the teacher, “Please, don't take our class, today.” :

The boys

requested the teacher not to take their class that day.

SYNOMYMS etoppers

20. Ability: |Capability
21.Blame: Censure|
22. Excess]Surplus

23. Lack: deficiency IF You need more past papers like this page

24 Scold: reprimand Facebook.com/CSSTopers
ANTONYMS

25. Accusation:[Defence]

26. Rambling:[Methodical

27. Wild: [Civilized

28. Wicked:|Virtuous|

29. Excess:|Scarcity
CHOOSE THE CORRECT ANSWERS

30.32.6 + 12.6-? = 25 :|20.2

31.5% profit of 200 is: [10]

32.0.005x ? =500 : 100000

33.(0.25/5)x 5-0.05 =7 :[0.02]

34.(?/0.7)-7=0:/49
GENERAL KNOWLEDGE

35. Founder of “Big Bang Theory” is:|(George Lemaitre

36. Founder of Wikipedia is: Jimmy Wales|

37. Founder of wikileaks is:[Julian Assange)|

38. Wheel is symbol of: [progress|

39. Hanging garden were located in:[Iraq|

40. Broadway steel is located in:[USA]

etoppers

etoppers
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41.CNN stands for: [Cable News Network |
42. Through which country equator passes?([Indonesia]
43. Archaeologists in Israel have discovered 2000 old village under mud of?
44. AN stands for: [Local Area Network]|
ISLAMIC STUDIES etoppers
45. Aad was the nation of: Hazrat Hood (AS)
46. Hazrat Moosa married to daughter of:|[Hazrat Shoib (AS)
47. Hazrat Yousaf was the son of:[Hazrat Yagoob (AS)
48. Hazrat Yousaf remained in the well for: 3 days
49. Who added second Azan in Juma Prayer?|Hazrat Umar (RA)|
50. Atiq was the title of: [Hazrat Abu Bakar (RA)
51. Who levied Zakat on Horses? [Hazrat Umar (RA)]
52. In which Ghazwa, prophet had to miss four prayers?|Ahzab (Khandagq)|
53. Zaboor was revealed to Hazrat Dawood; its literal meaning is:|pieces|
PAKISTAN/ CURRENT AFFAIRS etoppers
54. Simon Commission visited India second time in:
55. Quaid-e-Azam presented his 14 points in:
56. First round table conference was held in:
57. Ali gar university was established in:
58. Indian Muslims launched Khilafat Movement in1919 which lasted till the year:
59. Pakistan shares almost 1600 km border with: [Indial
60. Muslim demand for Separated Electorate was included in:[Minto Morley Reforms|
61. Faraizi movement launched by:|Haji Shariat Ullah|
62. Mopla Revolt in: etoppers
63. During freedom movement, Qazi Muhammad Isa served Muslims of :[Balochistan|
64. . In Asia, highest population density in: [Bangladesh|
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65. . First women to command space shuttle:|Valentina Tereskhova|

66. . Pakistan’s largest export market:

67.. Edward CO“ege is in: etoppers
68. .Headerquarter of WHO is at:[Geneval

69. . UNICEF supported which program in 1982-86:|all of the above|

70. . Khanki Headworks is on:

71.. Gas used in cold drink is:|Carbon-dioxide|

72. Motion of object around axis of an object is known as? |[Rotational motion|

73. Vitamin achieved from sun is:[D]
74.7TB affects: [Lungs] Facebook.com/CSSTopers
75. Solution is Homogenous but suspension is:|[Hetergeneou

76. Ozone protects human skin from:|UV rays|

77.When we go upward atmospheric pressure:
78. 0On sunny day, Photosynthesis :[Increases]|

79. Magnetic quality will................ on heating:
80. “Horticulture” is a science of: cultivation of flower, vegetables, fruits and plants etc.
Math etoppers

81. To reduce a given number by 1212 percent. We should multiply it by.[78]

82. The price of a machine bought for Rs.32000 falls for 5% every year at the end of two
year it is worth.[28800)

83. Which 40% of a number added to 42? Result is the number itself.[70]

84. A man leaves his state to his wife and two sons. Wife receives ----of the remainder.
The value of entire estate will be how much if each receives 40000

85. On the average an inspector rejects 08% of the instruments as defective. How many
instruments will be examined in order to reject the instruments?[2500]

eloppers

88. In a class of 30 boys 18 play cricket 17 play football 5 of them do not
play any game. How many of them play both of the games.

89. 31000 written in decimal form will be[0.003]

90.9X7=3545, 4X3=1520, 6X8="

91.49(81)(79

92.(-2)5=7 -25
93. What is the average (arithmetic mean) of the measure of five angles in a
pentagone.[729 etoppers

94.(4) 3 2 =7[49]

95. 3034-(1002/20.04)=72984
96. If 25% of 250 equals to 6.5% of “a” then what is a? |

97. A father is four times as old as his son if the age of son now? 12 years]
(Check)

98. A plant grows 3.5 cm/weekK if it is now 10 cm tell how many weeks from

now plant will grow to the height of 27.5[5 Weeks]
99. The fraction a+b/a=? |1+b/a

100. If (0.4) (Y) = 5 find the value of (4.44) (Y) [55.5]

etoppers
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FPSC Patrol Officer Paper 2014

1. ___ of fire, many more buildings were destroyed than the earthquake itself had damaged.
(A) Consequence (B) Consequently (C) Consequences (D)|as a consequence

2. All right, Johnny, It's time you ___ to bed.
(A)[went](B) would go (C) will be going (D) going to go

3.lvan __ hasn't repaired his bicycle tire.
(A)[yet](B) soon (C) still (D) already —
4. A chemist prepares his experiments carefully before trying to carry __in his laboratory.

(A) it out (B) out it (C)|them out|(D) out them
5. Here in today's paper it says the zoo has just obtained ___ animal no one has ever heard of
before.
(A) a (B)|the|(C) any (D) some

6. ___ that land was known as Siam but its modern name is Thailand.
(A) Origin (B) Original (C) Originates (D) [Originally

7. That book looks like an advanced ___ text to me
(A) Economic (B)|Economics [C) Economist (D) Economical

8. It's probable both that there were many severe storms in this area __ ships sank.
(A) So many (B) That many (C) And many (D) And that many |

9. Does this package belong to __ oris it yours?
(A) we (B)[us](C) our (D) ours TR

10. If you don't want to get wet, then you had better ___ this umbrella with you.
(A) (B) For taking (C) To take (D) Taken

11. My friend would not tell me __ for his new car.
(A)lhow much he paid|(B) how he paid much (C) how much did he pay (D) how he'd pay very much

12. The sign said that unauthorized persons were prohibited ___ that restricted area.
(A) Entering (B) To enter (C)(from entering |(D) not to enter
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13. The reason for traffic accident was ___ one of drivers had lost control of his car.
(A) why (B) when (C)[that](D) how

etoppers
14. The Eiffel Tower is still __ of the man made structure in the world.

(A) a very high one (B) highest one (C)[one of the highest|(D) the higher one

15. My friend said she is very eager ___ a real Hollywood star.
(A) to meet (B) for meeting (C) in meeting (D) that she can meet

16. Corporal Jackson, you will obey this order ___ now!
(A) as (B) just (C) only (D)|right
17. The corner marketis ___ only until 8:30 pm

(A) opening (B) opens (C) opened (D)[open|

18. Problems common to most countries include the social, economic and
(A) politics (B) political (C)|government (D) of government

19. 10 workers can cut the grass of sports complex in 40 days. How long will it
take 20 workers to do this job?
(A) 50 days (B) 40 days (C) 15 days (D)|20 days
20. Salma purchased a hand hair band at a cost of Rs. 32 instead of Rs 40
which was the original price. etoppers

(A) 14% (B) 16% (C) 18% (D)(80%|

21.Ify=2x+12 and y = 0, what is the value of x?

(A) 6 (B)[-6](C) 12 (D) 0

22. A bus is moving on the motorway at speed of 90 km/hr. What is the
distance traveled by the bus after 3 hours and 30 minutes?

(A) 375 km (B) 360 km(C) 285 km (D)

23. Arsalan is 3 years older to Babar and 3 years younger to Kamal, while
Babar and Danial are twins. How many years older is Kamal to Danial?
(A)2(B)3 (C)IE](D) 12 etoppers

24. If 100 students write 100 pages in 100 days, then 4 students would write 4
pages in how many days?

(A) 1 day (B)4 days|(C) 40 days (D) 100 days
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24. 1f 100 students write 100 pages in 100 days, then 4 students would write 4 pages in how many days?

(A) 1 day (B)(C) 40 days (D) 100 days
25. After having Bar B.Q in a restaurant, three friends paid the bill. Afzal Paid 2/3 as much as Danial paid and
Danial iaid 1/2 as much as Tariq paid. What faction of the bill did Danial pay?

(A) (B) 1/3 (C) 12/13 (D) 5/8

26. There are four numbers. Average of the first three is 20 and that of the last three is 19. If the last number is
22. Find the first number?

(A) 18 (B)[19](C) 20 (D) 21 etoppers

27. What is the average of all prime numbers between 30 to 40?

(A) 34 (B)[35](C) 37 (D)43

28. A bus has an average of 30 passengers on Sundays and 40 on other days. The average number of
passengers who travel in this bus in a month of 30 days starting with Sundays is?
(A)[1150] (B) 900 (C) 1200 (D) 1160

29. Mr Atiq deposited Rs. 7500 at the compound interest rate of 4% per annum. How much money on interest
he will get after 2 years.

(A)Rs. 610 (B)[Rs. 612/ (C)Rs. 614 (D) Rs. 616

30. If 16 books cost Rs. 240 then what do 40 books cost?

(A)|Rs. 600| (B) Rs. 620 (C) Rs. 640 (D) Rs. 660 etoppers

31. Rs. 7000 is divided among Asghar, Bilawal and Kamran so that Asghar receives half as much as Bilawal
and Bilawal half as much as Kamran. Than Kamran's share is?
(A) Rs. 2000 (B)Rs. 3000 (C)[Rs. 4000( (D) Rs. 5000 32. The fraction of 25% is?

(A) (B)1/5 (C) 1/10 (D) 2/4

33. Huma's age after 15 years will be 5 times of her age 5 years back. What is the present age of Huma?
(A)15 (B) 14 (C) (D)9

34. Khalid covered a distance of 750 meter in 2 minute 30 seconds by his bike. He covered the distance at a
speed of? loppars

(A) 16 km/hr |(B) 17 km/hr (C) 18 km/hr (D) 19 km/hr

47. NATO is a name of

(A) an economic organization (B)[military aIIiance|(C) political party of USA (D) cultural alliance
48. BBC is a news agency of? etoppers

(A) USA (B)[UK](C) France (D) Germany
49. Suez Canal is situated in?
(A)|Egypt|(B) Libya (C) Nigeria (D) Palestine
50. The No.1 Tennis player is

(A) Victoria Azarenka (B) Maria Sherapova (C)lSerena WiIIiamsI(D) None of these

51. Who is the president of Iran?
(A) Sayyid Ali Hosseini Khamenei (B) Mahmoud Ahmadinejad (C) Mohammad Javad Zarif (D)[Hassan Rouhani|

52. RAW is an intelligence agency of
(A) Afghanistan (B) Iran (C) (D) Bhutan

53. Which of the following country is not member of SAARC?

(A) Bhutan (B) Bangladesh (C) (D) Maldives

54. The political office of Taliban is in? s i
(A) Damascus (B)[Doha] (C) Dubai (D) Musqgat

55. The headquarter of Transparency International is in

(A) (B) Paris (C) London (D) New York

56. The largest wheat producing country in the world is?

(A) USA (B) Canada (C)India (D)[China]

57. Which of the following year withesses massive flood in Pakistan?

(A) 2007 (B)2008 (C) 2009 (D)2010]

58. The highly populous city of the world is?
(A) Shanghai (B) Beijing (C) (D) Karachi

etoppers
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85. Which of the following helps in clotting of blood?

(A) Vitamin B (B) Vitamin B4(C) Vitamin K {D) Vitamin D

86. The main constituent of Hemoglobin is?

(A) Protein (B)[lron ](C) Calcium (D) Chlorine etoppers
87. Which of the following vitamins promote healthy functioning of eyes in human beings?
(A) Vitamin B (B) Vitamin C (C)(D) Vitamin D

88. Which of the following diseases is caused by virus?

(A) Cholera (B) Tuberculosis (C) Malaria (D)[Smallpox]

89. What is the closest planet to the earth?

(A)[Venus] (B) Mercury (C) Jupiter (D) Moon

90. The primary colors are?

(A)|Red, Green, Blue|(B) White, Black, Blue (C) Red, Yellow, Blue (D) Red, Orange, Blue
91. Which of the following vegetable is rich in Vitamin A

(A)[Carrot](B) Radish (C) Potato (D) Onion

92. Which of the following is essential for proper formation of teeth?

(A) lodine (B) Copper (C)|Florine| (D) Iron

93. Wind energy is an excellent example of?

(A) Potential energy (B) Traverse energy (C)|Kinetic energy|(D) Mechanical energy

94. Battery was invented by? etoppers
(A)[Volta] (B) Excide (C)Maximas (D) Newton

95. A gas heater gives us heat by?
(A) Conduction (B) Convection (C) Radiation (D) None of these

96. Deficiency of Vitamin A results in?
(A) Night blindness (B) rickets (C) diabetes (D) throat infection

97. Trachoma is disease of? etoppers
(A) Liver (B) Brain (C) Eye (D) Heart
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98. Pneumonia directly affects which part of body?

(A) Nervous System

(B) Heart
(C)|Respiratory System
(D) Digestive System

etoppers
99. Gas used in Balloon is:
(A)|Helium
(B) Nitrogen
(C) Oxygen
(D) Carbon Dioxide
etoppers

100. The stimulant which is present in tea leaves is:
(A) Bracelene
(B)|Caffeine
(C) Thiamine

(D) Phosphorous

efoppers
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FPSC Parol Officer Paper 2010

ISLAMAYAT www.facebook.com/wetoppers

1

© 00 N O O b~ WODN

-
o

12
13
14
15

Which Surah does not start with bismillah?|Al Tauba |

When did the Holy Prophet P.B.U.H. offer Haijj ?:

What is total number of Ghazwas?

In which. Year, Migration to Madina took place? (622 A.D

When did Battle of Uhad take place?

Al-Maeen is a Surah in which there are: 100 or more Ayahs

Arbaeen is the book of Hadith in which there are: 40 Ahadith

Fatwa Qazi khan is an authentic Fatwa of :|Figh Hanafi|

Fidk Garden was bestowed to the Holy Prophet as :

Quba mosque has been mentioned in : |Surah Al- Taubah
PAKISTAN AFFAIRS

When did the partition of Bangal take place?

Who was the first viceroy in india? |Lord Canning|

Who was the viceroy of india at the time of Simon Commission?|Lord Irwin|

Who was the editor of the daily zamindaar? Maulana Zafar Ali Khan|

Who is the author of “India wins Freedom”?|Abul Kalam Azad

www.facebook.com/wetoppers
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16 Who was the first president of All India Muslim League?[Sir Aga Khan\

17 When did Simon Commission come to india?[1928

18 When did Allama Igbal deliver Allahabad address? December, 1930|

19 Who was the last viceroy of india?|[Lord Mounbatten|

20 Who presented poor man’s budget in 19467|Liagat Ali Khan
GENERAL KNOWLEDGE www.facebook.com/wetoppers

21 where is the greatest and the biggest wall situated?

22 where is the leaning tower of Pisa?|ltaly|

23 who wrote the famous novel ‘War and Peace’?|Lao Tolstoy
24 How many are the states of USA?[50]

25 Which are the two Seas that Suez Canal Connects? |Mediterranean and Red Sea|

26 How many are the countries in the European Union?

27 When was World Trade Organization formed? [1995|

28 Who is the Prime Minister of the United Kingdom? None (Theresa May|Now)
29 Which State of USA Barack Obama comes from?|lllinois]

30 Where is the head c:|uarthswrwofa!cr;g%gg%Esgleﬂeﬁi%ggsof Justice?[Hague]

31 What does NATO stand for?|North Atlantic Treaty Organization|
32 Which country does Aung Sau Sukai come from? [Myanmar |
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33 Who authored ‘Friends Not Masters’?[Ayub Khan|
34 What is the length of Karakoram Highway which is also called silk highway?
35 Who is the president of india?|Ram Nath Kovind|(current)

36 Who is the writer of Clash of Civilization and the Remaking of World Order?
37 The current secretary general of UNO belongs to which country?[Portugal|(Antonio Guterres)

www.facebook.com/wetoppers
38 The first successful expedition to the Mount Everest was made in? 1953

39 Who holds the World record of maximum runs in test cricket? [Sachin Tendulker]|
40 The road density of Pakistan is : [33 km/sq. km|

41 Who wrote “The Origin of Species”?[Darwin|

42 When was UNO formed? www.facebook.comiwetoppers
43 What is the number of the member countries of the Common Wealth? 53]

44 When was OIC established?

45 Where is the headquarter of SAARC? :[Kathmandu |

46 Habeas Corpus Act 1679 :|All of the above]|

47 Exposure to sunlight helps a person improve his health because : [The ultraviolet rays convert|
|S|<il1 oil into Vitamin Dl www.facebook.com/wetoppers

48 The length of Faisalabad-Multan (M4) Motorway is :[286 km]

33 Who authored ‘Friends Not Masters’?[Ayub Khan|

34 What is the length of Karakoram Highway which is also called silk highway?[1300 km|

35 Who is the president of india?|Ram Nath Kovind|(current)

36 Who is the writer of Clash of Civilization and the Remaking of World Order?|Samuel P Huntington |

www.facebook.com/wetoppers .
37 The current secretary general of UNO belongs to which country? Portugal (Antonio Guterres)

38 The first successful expedition to the Mount Everest was made in?{1953

39 Who holds the World record of maximum runs in test cricket?|Sachin Tendulker|

40 The road density of Pakistan is : 33 km/sq. k
41 Who wrote “The Origin of Species”?[Darwin |

42 When was UNO formed? www.facebook.com/wetoppers
43 What is the number of the member countries of the Common Wealth?|53 |

44 When was OIC established?

45 Where is the headquarter of SAARC?

46 Habeas Corpus Act 1679 | All of the above|

47 Exposure to sunlight helps a person improve his health because : [The ultraviolet rays convert skin oil|
linto Vitamin D|

48 The length of Faisalabad-Multan (M4) Motorway is :[286 km |
49 The first Afghan War took place in :{1839 www.facebook.com/wetoppers
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49 The first Afghan War took place in :

50 Gulf cooperation council was originally formed by :[Bahrain, Kuwait, Oman, Qatar, Saudi Arabia and UAE |

ENGLISH www.facebook.com/wetoppers
51 The statue was so-------- that people stared at it in horror. : [Grotesque|
52 He was caught red-handed and could not ---------- the charges. : Refute
53 Unhappy about the treatment meted out to her, She---------- demanded justice.:
54 They sprayed tear gas----------- on the protesters. :|indiscriminately |
55 We are happy to----------- the receipt of your order no. :[acknowledge]
56 All jobs are respectable ---------- of their nature. :[irrespective|
Tick the Antonyms www.facebook.com/wetoppers

57 OSTRACIZE :
58 DENSE :[sparse|
59 PARSIMONIOUS :|extravagant |

60 FETTER :[untie]
61 HARMONY :|strife |
62 OBNOXIOUS :[Nice]

Tick the Synonymous
63 Those who work by fits and starts seldom show good results.:|irregularly

www.facebook.com/wetoppers
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64 He was all at sea when he began his new job :[puzzled|
65 The sweeping statement by the boss left the conscientious workers disgusted : generalized statement

66 A person with a long experience of any occupation :[veteran)|

67 Words written on atomb :

68 Stealthily done : surreptitious
69 Something no longer in use :[obsolete]
70 One not concerned with right or wrong :[amoral|

SCIENCE www.facebook.comiwetoppers

71 Who discovered Penicillin?|Alexander Flaming|
72 Who wrote ‘A Brief History of Time?|Stephen Hawking|
73 What is the rotation period of the Earth? 23 hours; 56 minutes and 4 seconds|

74 Stainless steel is an alloy of? Zinc and nickel |

75 Which two gases do you exhale more than you inhale?[Carbon and Oxygen
76 Who gave the theory of Relativity? Albert Einstein|

77 How many colours a Spectrum has?
78 In which year Dr. Abdul Salam was award Nobel prize in Physics?{1979
79 CPU stands for :|Central Processing Unit|

80 What is Black Hole?|Hypothetical region of the space|

www.facebook.com/wetoppers

MATH www.facebook.com/wetoppers
81 The length of the longest pole that can be placed in a room 12 m long and 9 m wide and 8 m high is :
82 An Arabic class has 12 boys and girls. Boys are what fraction of the class?@
83 Coins of five rupees, two rupees, one rupee and 50 which are in proportion to 1:5:2:6 make a total of Rs.
1900. The number of five rupee coins is:[95]
84 Excluding stoppages, the speed of a bus is 54 kmph and including stoppages, it is 45 kmph For how
many minutes does the bus stop per hour? 15|
85 A bus is moving with a speed of 30 km/hr ahead of a car with a speed of 50 km/hr. How many
kilometers apart are they if it takes 15 minutes for the car to catch up with the bus?@]
86 Two dice are thrown simultaneously. What is the probability of getting two numbers whose product is
even? www.facebook.com/wetoppers
87 The time in the wall-clock is 3.25 the acute angle between the hours-hand and the minutes-hand is :
88 Three bells toll at intervals of 9, 12 and 15 minutes respectively. All three begin to tooll at 8 a.m. At what
time will they first toll together again?
89 13, 32, 24, 43, 35, 7, 46, 65, 57, 76. :[54]
90 Then identical particles are moving randomly inside a closed box. What is the probability that at any
given point of time all the ten particles will be lying in the same half of the box?

www.facebook.com/wetoppers
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91 What is the value of the product?/530] www.facebook.comiwetoppers

92 Rectangle has a length of 10 cm and a perimeter of 30 cm. Find the width of the rectangle. :[5 cm |
93 A rectangle has a length of 16 cm and a breadth of 3cm. What is area? @

94 In the exam 45% students failed and 550 students who appeared in the exam were? 1000

e

95 When a book is sold for Rs76, the gain is 52%. The gain, when it is sold for Rs74 is percent?

96 Six women or nine girls do a pice of work in 10 days, eight women and three girls will do the same work

in :six aays www.facebook.com/wetoppers

97 Working 8 hours a day, a work is done in 5 days. For how many hours a day the works is done if it is
finished in 4 days?[10hrs]

98 One meter is equal to :[103 millimeter]

99 If 60% employees went to a meeting, which means 40% didn’t go on meeting, of 28 employees did not
go the meeting, how many total employees are there?(70] www.facebook.com/wetoppers

100 Gropes each obtaining 3 boys are to be formed out of 5 boys----A, B, C, D and E such that no one group
contains both C and D together. What is the maximum number of such different groups?|7 |

f Past Papers
Patrol Officer
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ENGLISH www.facebook.com/wetoppers

Fill in the Blanks? :
1. The prince allied himself ........... the Scots? -
2. She is a staunch advocate........ free speech?]0
3. The Hospital is affiliated....... local university? Wlth
4. She has a deep affinity.....nature?

5. | love strawberry but it doesn’t agree.....me?
6
7
8
9

She was alarmed ...... the prospect of traveling alone?[At]
He was alive....the danger?
| like cats but | am allergic....them? [To]

. Two companies were amalgamated....... one? Jinto
10. We were amazed....her generosity?
11. She is an.....qirl?

12. Nothing is...... in this world? {Impossible

13. He is...... to a large fortune? [Heir

14. Toerris........ to forgive divine? [Human|

15. Time will....her sorrow? [Heal
Mark the correct meanings

16. Futile | Useless

17. Pragmatic [ Practical |
18. Germane | Relevant

19. Comprehensive | Complete
20. Comprise :|Consist of|

www.facebook.com/wetoppers
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MATH www.facebook.com/wetoppers

21. Solve:15x23+42x3="7

22.(60)2=2x72{50]

23. Change27/7 to a mixed number? [3]

24.12% of........ =487 [400]

25.(31/10)*(3/10)+(7/5)/20? [1]

26.(?)3=1728:[12]

27.1f x% of 60=48 then x=?

28.5.76-1 -6'2-4=?@ www.facebook.com/wetoppers

29. A man has some hens and cows. If the number of heads be 48 and the number of feet equals
140, then the number of hens will be?

30. There are two examination rooms A and B. If ten students are sent from A to B then the number
of students in each room is same. If 20 candidates are sent from B to A then the number of students
in A is double the number of students in B. the number of students in room A is :[100]

31. In the morning Sarah read 100 pages at the rate of 60 pages per hour. In the evening, she read
100 pages at the rate of 40 pages per hour. What was the average rate of reading for the day?
32. The number of shells in Javaid’s collection is 30% of the number in Justin’s collection. If Justin
has 80 more shells than Javaid, how many shells they do have altogether?

33. A person sold his watch for Rs. 75 and his percentage of profit equals the cost price The cost of
the watch is? www.facebook.com/wetoppers

34. David gets on the elevator at the 11t floor of the building and rides up at the rate of 57 floors per
minute. At the same time, Albert gets on an elevator at the 51st floor of the same building and rides
down at the rate of 63 floors per minute. If they continue travelling at these rates, then at which floor
will their paths cross?

35. How many pieces of 0.85 meters can be cut from a rod 42.5 meters long?|None of these |
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36. (46+18*6+4)/(12*12+8%12)="2?{79/120
37.840-14+40=2[100|
38. Find a single discount equivalent to a discount series 30%, 20% and 10%?
40. Four workers can do a job in 48 days. How long will it take for 3 workers to finish the same
job? www.facebook.com/wetoppers
SCIENCE
41. Treatment of rabies or cure of Hydrophobia was discovered by? [Louis Pasteur|
42. One of the kidney’s functions is to? [Maintain the normal composition of blood|
43. The most abundant organic molecules in the living organism are?
44. Barometer was invented by? [Evangelista Torricelli
45. A blotting paper absorbs ink because of the? |Capillary action|
46. The “Escape Velocity” needed to leave the earth is? [40,000km/hr]
47. Insulin controls the metabolism of? {Carbohydrate|
48. Pneumonia is the infection of? |Lungs] www.facebook.com/wetoppers
49. Carbon dating is a scientific process for determining the? i&ge of an object|
50. Sleeping sickness is caused by a? [Protozoan]|
51. The vitamin associated with the clotting of blood is? {Vitamin K|
52. The brain center for the controlling of breathing is in the? [Medulla|
53. Radio waves are much like? | Light waves|
54. Antibodies are chemicals that are? [Produced by the body in response to an antigen|
55. The best source of vitamin C is? :[Oranges
56. Why does a dog hang his tongue
57. The normal chromosome number in humans is? [46]
58. A laborer doing heavy work requires? {3,500 calories per day|
59. Springs of shock absorbers of automobiles and railway coaches are made of steel and not of
rubbers because? [More elastic then rubber]|
60. Who was the first to devise the reflecting type of telescope?

www.facebook.com/wetoppers
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ISLAMYAT

61. Who conquered Egypt? :[Omro Bin Al-Aas|

62. BanuGhasan is in? Z www.facebook.com/wetoppers

63. Battle of Yamama was fought against? :|Moselma Kazab|

64. Who penned down peace treaty on the conquest of Jerusalem? :[Hazrat Omar (R.A)|

65. Koofa was built on the orders of? :[Hazrat Omar (R.A)|

66. Tripoli was conquered in the reign of? [Hazrat Usman (R.A))

67. Which battle decided the fate of Syria? [Hunain

68. Hazrat Omar (R.A) established regular military institution in? :

69. Muslims martyred in the war against MoselamaKazab were? :

70. When Hazrat Usman (R.A) accepted Islam, what was his age? :
PAKISTAN AFFAIRS

71. Official language of Pakistan under 1962 constitution was? [Bengali and Urdul

72.Gen. Zia held elections in?

73. Line of control came into existence in?

74. Length of Pak-Iran border is?

75. Area covered by Punjab is? :[219,126]sKm

76. Pakistan has how many seasons? [4]

77. Highest peak of salt range is?

78. In which province, there is no desert? :[K.P|

79. Deserts in Punjab are? [ 2 ]

80. Cholistan desert is also known as?
GENERAL KNOWLEDGE www.facebook.com/wetoppers

81. A is smaller than B but taller than C, who is the tallest of the three?

82. TASS is? :[News Agency |

83. Which vegetable contains high percentage of vitamin C?

84. Homo sapiens is a scientific name given to?

85. KLM is the name of? :[Dutch Airlines |

www.facebook.comi/wetoppers
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86. ATC stands for? [Anti-Terrorist Court ]

87. Jamal-ud-Din Afghani was champion of? { Pan Islamism]|
88. Bismarck was iron man of? [Germany
89. Millennium Bug is a term used in? :|[Computer Virus|
90. Gulf War started in?

www.facebook.com/wetoppers

91. When water accord concluded between provinces? :[1991|

92. APEC stands for? [Asia Pacific Economic Cooperation]

93. GIZA in Egypt is famous for? :[Pyramids]

94. Chancellor is called the Head of? :[Germany]

95. Who is supposed to quote maximum Ahadith? :{Abu Huraira|

96. The word Muhammad as a name has been mentioned in Holy Quran#4 fimes]
97. Who appoints governor? :|President|

98. Which country used currency note first? :[Chinal

99. Alexander the Great belongs to? :[Macedonial

100. Most densely populated district in Punjab is?

www.facebook.com/wetoppers
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FEDERAL PUBLIC SERVICE COMMISSION FOR THE
POST OF JUNIOR PETROL OFFICER MOTORWAY BPS-
16(2006)

1. Mohenjadaro is located in :Sindh

2. The Battle of Plassey was foughtin;: 1757

3. Hayat-e-Javeed was written by: Altaf Hussain Hali

4. Who founded the Muhammadan Educational Conference
in 1886 : Sir Syed Ahmad Khan

5. Who was the viceroy of India on the eve of the partition

of Bengal? Lord Curzon

6. The first constitution of Pakistan came into operation on : March
23,1956 Mslamo

7. Who was the Chairman of Boundary Commission in 19477 : Sir Cyril
Radcliffe

8. Who became the Governor of Pakistan after Khawaja
Nazim -ud-Din Ghulam Muhammad -
9. The Quiad-e-Azam joined the Muslim league in: 1913
10. Pakistan is located in the tropic zone of : North

11. The country situated in the east of Pakistan is : India
12. Pakistan became the member of United Nation on : September
30,1947

13. One of the main objectives of All-India Muslim League at
the time of its creation was : | To be loyal to the Indian British
Government

14. Arya Samaj was founded in: 1875

15. The Anjuman-i-Hamayat-i-Islam was founded in : 1884

16. Indicate the highest civil award among the following : Nishan-e-
Pakistan

17. Why Quaid-e-Azam launched Direct Action Day on August
16,1946: To protest against breach of pledge by viceroy FM
Lord Wavell
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18. Quaid-e-Azam resigned from membership of Congress:1920
19. Who had the shortest tenure as Governor General of Pakistan: |innah
20. Liaquat-Nehru was announced at Delhi in : April 1950

21. The longest river of the world is : Nile Weteppecs
22. Biggest Desert of the world is : Sahara

23. One horse power is equal to : 746 Watts

24. Light Year is a unit of : Distance

25. How many bones are there in human body ? 206

26. Cusec is unit of : Water Flow

27. The city which is also known as city of Canals: Venice
28. The border separating Pakistan and Afghanistan is known asDurand Line

29. The Largest ocean of the world is : The Pacific Ocean
30. The UNO was founded in the year: 1945

31. In which year did Barrack Husain Obama receive the
Noble Prize for Peace: 2009 , |

32. The Capital of Argentina is : Buenos Aries

33. The Capital of Australia is : Canberra

34. Boxing Day is celebrated in Australia on :  December26

35. The National Flower of Pakistan is : Jasmine

36. The National Animal of Pakistan is : Markhor

37. The currency of Indonesia is : Rupiah

38. The Largest Island of the world is : Greenland

39. Cathay Pacific is the National airline of : Hong Kong
40. The old name of Myanmar is : BurmaHemingway
41. The old Man and the sea is written by: [Ernest

1 T waiting for two hours: Have Been

43. We........ them yesterday: \visited
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44, See that you ........ for the meeting in time: Come

45. They will come if we......... them: Ask

46. He was deaf......... all your requests: to

47. Regular Exercise is benefidal ............ health: with

48. Are you conscious.......... Your responsibility in this
matter: of

49. We regret that we can not comply..... your request: with
50. The PHD degree was conferred ............. him at the
convocation: on

51. Entice: Repel

52. Mettle: Cowardly

53. Microcosm: macrocosm
54. Absurd: Rational

55. Modium: Great amount
56. Imperious: proud

57. Luxuriant: Beautiful

58. Memorable: Worth remembering

59. Impose: enforce

60. Alter: change Welappe

61. Spain literally means: Land of rabblts

62. The only country within a country is : Vatican City
63. Who wrote “Hamlet”? : Shakesgeare

64. Who wrote “Paradise Lost”? : _ Milton

65. Which city is located in two Continents? :  Istanbul

66. The Quaid-e-Azam presented his famous 14 points on : 31% March 1929
67. ATM means : Automated Teller Machine

68. Who presented the Iaw of Falling Bodies ?: Newton
69. Point out the correct ‘'spelling : [Schedule
70. Point out the correct spelling : Schizophrenia




Subscribe our Youtube channell youtube.com/PAKMCQS Official

71. CPU is the abbreviation of ;: Central Processing Unit
72. Shakespeare belongs to : 16th century England

73. Lionel Messi is a famous: Footballer

74. UK is the abbreviation of : | United Kingdom

75. NATO is abbreviation of : _ North Atlantic Treaty
Organization

76. Where the Pakistan first Rad|o Station was setup?
Karachi

77. Nairobi is the capital of : Kenya

78. Gorbachev was the president of : USSR

79. Riyal is the currency of : Saudi Arabia

80. The Foreign Minister of Pakistan is : Khawaja Asif
(2018)

81. How many other sons d|d Prophet Ya'qub have in
addition to Prophet Yusuf? 11

82. How many Asma-Al-Husna are mentioned in last two
verses of SuraAl-Hashar?: 11

83. Which important event mentioned in the Quran
occurred one year before Hijrah in Makkah?: Abu Lahab’s
d e a t h Wetoppers

84. How old was the prophet when his mother died?: 6
years

85. Which ayat of Quran confirms the Islamic Religion as
the complete religion?: al-Maidah Ayat 3

86. In which battle was the Prophet (PBUH) uncle Hamzah
(R.A) killed? : Uhad

87. Which major event took place in the second Hijrah year
in the month of Ramadan? : : Battle of Badr

88. Who was called the” sword of Allah”? : _ Khalid ibn Al-
Walid(R.A)
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89. Who amongst the Mothers of the Believers was nicknamed
“Ummul-Masakeen”(Mother of the poor)?: Zainab binat
Khuzaimah(R.A) Wetoppers

90. Who was called “Tahirah”(Pure)among the Mothers of
the Believers(R.A)? Khadijah(R.A)

91. Who built the Qaba(the house of Allah)? Prophet
Abraham(PBUH)

92. Which is the first mosque of Islam whose foundation
prophet Muhammad (PBUH) laid: Mosque of Quba

93. How many chapters and verses are there in Holy Quran: 114
chapters and 6666

94. The first Surah in the Holy Quran: Sura Al-Fateha

95. The total number of Makki surahs are: 86

96. The number of prophets whose names are mentioned in
the Holy Quranis: 25

97. The name of the sixth Kalma is: Kalma Radd-i-Kufar
98. “Kitab-ul-Kharaj “,a book of figah was written by: Imam
Abu Yousaf Wetoppers

99. The treaty of Hudabia was signed in : | 6" Hijrah

0. Who was the commander of the Infidels in the battle of
Uhad ?: Abu Safyan
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Solved FPSC Model Paper

Complete the number series: 1, 2, 3,6, 9,
18,....,54
(a) 22
(b) 27
(c)36
(d)4a1
The first Constitution of Pakistan was
introduced in:
(a) 1955
(b) 1956
(c) 1958
(d) 1959
‘Naryab Dam' is being constructed in the
district of:
(a) Hangu
(b) Hazro
(¢) Haripur
(d) Kohat
The age of Hazrat Usman (RA) at the time
of his martyrdom was:
(a)80
(b) 78
(c)76
(d) 74
Choose the correct indirect speech of: “Sit
down, Ail” he said.
(a) He asked Ali to sit down
(b) He said Ali to sitdown
(c) He asked to Alito sit down
(d) He said sitdown Ali

The word Ethics is derived from?
(a) Ethos
(b) Ethes
(c) Athos
(d) Athes

He asked us, “Have you been shopping”?
Find the correctindirect sentence.
(a) He wanted to know if we have been

(Digital Magazine) |

Patrol Officer

9)

10)

11)

12)

13)

| For Free Download: www.csStimes. pk

shopping

(b) He wanted to know that, if we had been
shopping

(c) He wanted to know if we had been
shopping

(d) None of these

Which among the following is a positively

charged particle emitted by a radioactive

element?

(a) Betarays

(b) Alpha rays

(c) Gamma rays

(d) Cathode rays

Choose the correct meaning of
ENERVBATE
(a) To frighten
(b) Strengthen
(c) Excite
(d) Weaken
Which one of the following is odd man
out?
(a) Leopard
(b) Panther
(c) Elephant
(d) Tiger
10+46+3X4=?
(a)18
(b)12.5
(c)10.5
(d)21.32

Which batsman broke Hanif
Muhammad's 35 year old record of scoring
499 runs in First Class Cricket?

(a)Brain Lara

(b) A.Bde Villiers
(c) Sachin Tendulkar
(d) Ricky Ponting

The first female scuba diving instructor of
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14)
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Pakistan is

(a) Muniba Mazari

(b) Rosheen Khan

(c) Ms. Naseem Hameed
(d) None of these

6,9, 18,45,126........... ?
(a) 369
(b)359
(c)329
(d)317

What is the capital of Canada?
(a) Toronto
(b) York
(c) Vancouver
(d) Ottawa

“Salisbury” isthe old name of
(a) Bangkok
(b) Khartoum
(c) Nairobi
(d) Harare

'A'is twice as old as 'B'. Three year ago ‘A’
was three times as old as 'B'. How old is ‘A’
now?

(a) 6years

(b) 12 years
(c) 14 years
(d) 16 years

The first revelation came to the Holy
Prophet (PBUH) in the
(a) Hira Cave
{b) Thaur Cave
(c) Dar-e-Argam
(d) Masjid-Al-Aqsa
Complete the series: AZ, BY, CX?
(a) DX
(b) EY
(c)DV
(d)DW
Khalil Gibran was a poet, philosopher and
artist from:
(a) Egypt
(b) Lebanon
(c)India
(d) Bangladesh
The most commonly used bleaching
agentis
(a) Alcohol
(b) Carbon dioxide

Digital Magazine

22)

23)

24)

25)

26)

27)

28)
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(c) Chlorine
(d) Sodium Chloride

Find the correctly punctuated sentence.

(a) After surviving this ordeal the trapper,
felt relieved.

(b) After surviving, this ordeal the trapper
felt relieved.

(c) After surviving this ordeal, the trapper
feltrelieved.

(d) After surviving, this ordeal' the trapper
feltrelieved.

By what date had Zakat system been fully
enforced during lifetime of the Prophet
(P.B.U.H)?

(a) Pre-Hijra
(b)Ramzanof 2 A.H.
(c)ZilHajof 6 A.H.

(d) Muharram of 9A.H.

In recitation of Holy Quran there are how
many occasions when Sijdah

(Prostration) is obligatory for the
Muslims;
(a)9
(b)12
(c)14
(d)16
State Bank of Pakistan was inaugurated
on
(a) 17" August, 1947
(b) 14" December, 1947
(c) 10" January, 1948

(d) 1" July, 1948

Pakistan-Afghanistan border, 'Durand
Line' was drawn in 1893 by Sir Mortimer
Durand and Afghanistan's ruler
(a) Amir Amanullah Khan
(b) Abdur Rehman Khan
(c) Habibullah Khan
(d) Sardar Daud Khan

Ryder Cup is the biggest tournament of
which sport?
(a) Polo
(b) Golf
(c) Badminton
(d) Table Tennis

One Gram of gold is equal to how many
Milligrams of gold?
(a) 100 mg
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(b) 500 mg
(c) 1000 mg
(d) 10,000 mg

Oligarchyis

(a) Corrupt land mafia

(b) Government of the drug Barons

(c) Government by small group of persons

(d) Rich and mighty dominating the
economic scene

Choose the Synonym of DITTO
(a) Fake
(b) The whole
(c) The Same
(d) Opposite

Taj Mehal at Agra stands on the bank of
river
(a) Ganga
(b)Jamuna
(c) Padma
(d) None of these

23, 200 . B B3, 5T
(a)27
(b)29
{c)31
(d)35

Who is the current Director General of the
Federal Investigation Agency (FIA)?
(a) Aftab Sultan
(b) Muhammad Akbar Khan Hoti
(c) Syed Muhammad Abdul Qadri
(d) Muhammad Amlish

India is building the 'Kishanganga
Hydropower Project in Occupied Kashmir
onriver:

(a) Chenab

(b) Sutlej

(c) Neelum

(d) None of these

Which country in South Asia has the
highest literacy rate?

(a) Maldives

(b) India

(c) Bangladesh

(d) SriLanka

Ringis to finger, as Watchis to
(a)Arm
(b) Wrist
(c)Leg

Digital Magazine)

(d) Neck
37) Whatdoes DNA stand for in genetics?
(a) Deoxynbonucleic Acid
(b) Deoxynitric Acid
(c) Deoxynucleic Acid
(d) None of these

38) Hedonism istogain maximum
(a) Pleasure
(b) Wealth
(c) Health
(d) Honour

39) Recently the world's longest (57km) and
deepest railway tunnel was opened in
?
(a) China
(b) USA
(c) Switzerland
(d) Brazil

40) ObeyistoDefyasWorkisto
(a) Lazy
(b) Rest
(c) Labour
(d) Protest

41) TallistoShortasTreacheryisto
(a) Respect
(b) Honour
(c) Disgrace
(d) Loyalty
42) Every computer consists of systems
together
(a) By working
(b) Work
(c) They work
(d) That work

43) In the world of computer science what is
LINUX?
(a) Malware
(b) Application Program
(c) Firmware
(d) Operating System
44) ‘Likud and Kadima' are the two main
political parties of
(a)lran
(b) Lebanon
(c) Syria
(d) None of these
45) He asked me, “Did you see the cricket

| For Free Download’ www.csstimes.pk m
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46)

47)

48)

49)

50)

51)

52)

2SS |1 CSS/Times

match last night” Find the correct indirect

sentence.

(a) He asked me whether | saw the cricket
match the earlier night

(b) He asked me whether | had seen the
cricket match the earlier night

{c) He asked me did | see the cricket match
the last night

(d) He asked me whether | had seen the
cricket match the last night

Name the ancient site that was the
forerunner of the Indus Civilization?

(a) Makli

(b) Knot Diji

(c)Kotla

{d) Pharwala

Mount Kinabalu is located in
(a) Kenya
(b) Botswana
(c) Indonesia
(d) Malaysia
What does Hajr-e-Aswad mean?
(a) Sacred stone
(b) Black stone
(c) Foundation stone
(d) Heavy stone

“Spratly islands” in the South China Sea
are disputed between China and
(a) Vietnam
(b) Malaysia
(c) Philippines
(d) All of these

Qutbuddin Aibak died playing a game.
Name the game?
(a) Tent Pegging
(b) Polo
(c) Sword fighting
(d) Archery
Who was the first US President to visit
Pakistan?
(a) Dwight D. Eisenhower
(b) Lynden B. Johnson
(c)JohnF. Kennedy
(d) Richard Nixon

Lahore Resolution, adopted on 23 March,

1940 was presented by
(a) Liagat AliKhan
(b) Quaid-e-Azam

Digital Magazine)

53)

54)

55)

56)

57)

59)

60)
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(c)A.KFazl-ul-Haq
(d) G.M. Syed

In April 2014 a terrorist group kidnapped
nearly 280 School girls in Nigeria. Name the
group
(a) Al-Shabab
(b) Al-Qaeda
(c) Boko Karam
(d) Da'esh (ISIS)

Pirpur Report was presented by
(a) AllamaIgbal
(b) Gandhi
(c) The Quaid-i-Azam
(d) Raja Syed Ahmed Mehdi

“Kofi Annan” a former Secretary General
of U.N.O belonged to
(a) Tanzania
(b) Kenya
(c)Ghana
(d)Chad

Pakistan bought Gwadar from Omanin
(a) 1958
(b) 1960
(c) 1950
(d) None of these

A person whose attitude is “Eat, drink and
bemerry”iscalleda/an
(a) Cynic
(b) Stoic
(c) Epicurean
(d) Capitalist
The Youm-e-Shuhadah is celebrated by
the Pakistan Police on
(a) 6 September
(b)4 August
(c) 1 August
(d) 6 August
Under which article of the 1973
Constitution any law inconsistent with or
in derogation of Fundamental Rights
would be void?
(a)Article8
(b) Article9
(c)Article 7
(d)Article 10

A car salesman sells 42 red cars and 14
green cars. What is the ratio of red cars to
green cars sold?
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63)

64)

65)

66)

67)

68)
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(a)3:4
(b)1:1
(c)3:1
(d)2:1
Identify the number of Surah in the Holy
Quran which are on the names of various
Prophets
(a)4
(b)6
(c)8
(d) 12
Which component of the diet prevents
constipation?
(a) Fiber
(b) Minerals
(c) Protein
(d) Vitamins

SwimistoFishasWalkisto_____
(a)Man
(b) Bird
(c)Chair
(d) Legs
AIDS virus destroys the system of
the human body.
(a) Circulation
(b) Immune
(c) Digestion
(d) Brain
Which shape has four equal sides and
rightangles?
(a) Rhombus
(b) Square
(c) Rectangle
(d) Parallelogram

Which Viceroy had the longest tenure in
India?
(a) Lord Curzon
(b) Hardinge
(c)Ripon
(d) Linlithgow
According to the Big Bang theory the
universeis
(a) Expanding
(b) Contracting
(c) Stationary
(d) Expanding and contracting alternative

Inthe fields of Computers VGA stands for
(3) Video Graphics Array

(Digital Magazine) |

70)

71)

72)

73)

74)

75)
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(b) Visual Graphics Array
(c) Visible Graphics Arrangement
(d) Video Graphics Adapter

Who is the current Prime Minister of
Turkey?
(a) Racep Tayyip Erdogan
(b) Ahmet Davutoglu
(c) Abdullah Gul
(d) Binali Yildirim

The first princely State, from the
following, to accede to Pakistan after
partition was

(a) Swat

(b) Hunza

(c) Bahawalpur

(d) Kalat

Lionel Messi is a very famous football
player. Which country does he belong to?
(a) Spain
(b) Brazil
(c) Italy
(d) Argentina

In 1997, a senior Police Officer,
Muhammad Ashraf Marath, embraced
Shahdat in a terrorist attack on him. Where
did it take place?

(a) Multan

(b) Gujranwala

(c) Dera GhaziKhan
(d) Sargodha

Whatisinfaq?
(a) Togivealms
(b) To keep fast
(c) Tospend wealth inthe way of Allah
(d) To offer prayers regularly

Which programme is generally used for
preparing slide presentation?
(a) MS Word
(b) Excel
(c) PowerPoint
(d) Auto CAD

In June, 2016, 16 people were killed and
55 injured in a terrorist attack on a Hotel in
Mogadishu, Somalia. Which militant group
claimed responsibility for the attack?

(a) ISIS
(b) AlQaeda
(c) Boko Haram
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80)

81)

82)
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(d) Al-Shabab

During the 2™ World War,
the British Prime Minister.
(a) Lord Wavell
(b) Simon
(c) Mountbatten
(d) Winston S. Churchill

The fifth Kalimainislam s called
(a) Kalima Shahadat
(b) Kalima Tamjeed
(c) Kalima Astaghfar
(d) Kalima Tauheed

Quaid-e-Azam resigned from Congress in
the year
(a) 1925
(b) 1922
(c) 1920
(d) 1918

In Internet terminology what does “IP”
stand for/
(a) Internet Provider
{b) Internet Protocol
(¢) Internet Procedure
(d) Internet Processor

The Parliament of Bangladesh is called
(a)Jatiyo Sangsad
(b) Khural
(c)Crotes
(d) Congress

AbuJahl was killed in the Battle of
(a) Badar
(b) Uhad
(c) Khandagq (Ditch)
(d) Moata

Day and night changes due to
(a) Earth's revolution
(b) Earth's rotation accompanied with its
revolution
(c) Earth's rotation onits axis
(d) None of these

At the end of a conference the 10 people
present all shake hands with each other
once. How many hand shakes will there be
altogether?

(a)20
(b) 35
(c)45
(d) 55

(Digital Magazine) |

84)

85)

87)

89)

90)

91)

CONFESS is the opposite of
(a) Refuse
(b) Contest
(c) Contend
(d) Deny
Fill in the blank. “Please send this letter
myaddress.”

(a)in
(b)on
(c) toward
(d)to

Find the correctly punctuated sentence.
(a) The filed was safe enough; wasn't it?
(b) The filed was safe enough; wasn'tit?
(c) The filed was safe enough; wasn't it?
(d) The filed was safe enough, wasn't it?

Which of the following districts of
Baluchistan contains huge deposits of
copper?

(a) Loralai

(b) Sibbi

(c) Khuzdar

(d) Chaghi

Michael Phelps of US won eight gold
medals in Beijing O 2008 in the
event of

(a) Athletics

(b) Shooting

(c) Gymnastics

(d) Swimming

No person shall be deprived of life or
liberty save in accordance with law, is
provided in Article of the
Constitution.

(a)8

(b)9

(c)10

(d) None of these

“Elysee Palace” is the official residence of
(a) King of Denmark

(b) German Chancellor

(c) President of France

(d) Pope of Vatican

The antonym of FRUGAL is

(a) Funny

(b) Simple

(c) Spend thrift

(d) Economical

| For Free Download: www.CSStimes. pk
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Pointing to Anwar's photograph Abdul
Said, “He is the son of the only daughter of
the father of my brother”. What
relationship does Abdul have with Anwar?

(b) Italy
(c) France
(d) Paris

: 97) As Cortes is related to "Spain’ in the same
(a) Cousin way 'Diet’ is related to what?
(b) Brother (a) France
(c) Father (b) Italy
(d) Maternal Uncle
(c) Japan
93) (;I;':c:::::';dln batteriesis (d) Denmark
(b) Sulphuric acid 98) Wemust not jeer athers.
(c) Hydrochloric acid (3) On
(d) Nitricacid (b) With
94) Whowas Christopher Columbus? (c) At
(a) Anitalianexplore (d) In
(b) First modern European to discover the 98) Heisjealous ____ my promotion.
Americas (a) In
(c) Discover of Puerto Rico and Jamaica (b) With
(d) Allare correct (c) For
95) Pakistan's first motorway, the 367 km, M- (d) Of
2, connecting the cities of Islamabad and 99) He introduced me _____ his boss.
Lahore, was constructed by the (a) From
company Daewoo and was (b) To
inaugurated in November 1997. (c) For
(a) SouthKorean (d) In
(b) South African 100) What is the meaning of Laudable:
(c) Japanese (a) Regrettable
(d) Chinese (b) Hurt
96) PisaTowerislocatedin (c) Praiseworthy
(a) Germany (d) Unfair
( Answers )
& B |14.| A |27.| B |40.| B |S53.|] C |66.|] D |79.]| B 92. D
2 B [15.] D |28.| C |41.| D |54.| D |67.| A |80.| A | 93. B
3, A 16. D |29.| C 82,51 G155, € 68. | A |81. | A 94. D
4, A ETECL B 3R C a3 ]l DU S AR DB C 95. B
5. A |18.| A |31.| B |44.| D |S57.| C |70.| C |83.| C 96. B
6. A |19.| D |32.| C |45.| D |58.| B |71.| D | 84.| D 97. C
¢ D | 20. B 33.| D |46.| B 59. | A 72. B 85. D 98. B
8. B [21.| C |34.| C |47.| D |60.| C |73.] C | 86.| A 99, B
9, D |:2& C 35.| A | 48, B | 61. B 74. | C | 87.| D |100.| C
10. | C (23.| B |36.| B [49.| D |62.| A |75.| D |88.| D
1. | A |24.| C |37.| D |S0.|] B |63.] A |76.] D |189.] B
12, A | 25. D |38.| A 51.| A | 64. B 77.| C | 90. C
13. | B | 26. B 0395 C 82 CU65 | Bl 78] Gl 91| C
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Today FPSC Test of Patrol Officer 15-7-2018
1.ATR42has ___ engines. Ans2

2. Pakistanexport tin and palmoil from : Malaysia
3Radiowavesare _ thanlight waves. Faster
4. Mangla damis on flowing river.

5. Atombombradiate  rays. Gamma

6. 1stmosqueofislam  quba

www.Facebook.com/
7.Mudarbais share ofloss and profit in business

8. Lights travel at 30,0000 km/s

9.Indus river passes through mithnkot

10.2nd major warbetween qureshandislam __ uhad.
11. Un Security councilhas ~~ members5

12 hajjis completedon 10 Zilhayjj

13. Month after ramzan Shawal

Population of china 1.3 billion
15. Waterboilsat_ 212F
16.Final of ps12018 was playedbetween  Peshawarand Islamabad
17 whowon 2018 psl islamabad
18. Aeroplane take flight because
19. Red wire in car’s battery shouldbeconnectedto  positive terminal
20.Southemn most country of Africa south africa
_.21.Syriaislocatedat _ to KSA south west _
21.Syriaislocatedat  to KSA south west
22. Steel bar is magnatised by
33. Country with no standing army
24.Laws in Pakistan arebasedon_ 1935 BritshIndia Act

www.Facebook.com/

25. Hajj is performed on which zill hajj ans Prophet performed hajj in 10 hijri But hajj
performed on 9 zil hijri

26. How many hydrgn and oxygn are there in water
27. Steam engine is runned by?

28.Nam of 2nd ghazwa

29. Warsak dam is situated on whch rver

30. What is gayas

3 1. Lake formed by land sliding inGB? Ataabad

32. Fish survives in iced lake? Reason
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Patrol Officer

Test

a4
Date 17.07.18

Patrol officer test batch-4
held on 17-07-2018 at 10:00a
1. Icc champions trophy 2017 held in ......
2. Which country president participate in the national day of pakistan.....
3. Which surrah prohibits muslims from backbiting.....
4. Lunar eslipse means....
4. Who present law of motion....
6. Gravitional force on moon....
7. The position of an area on the globe is determined by ....
8. Current Secetary general of UN....
9. Current PM of England.....
10. Which country is republic..Jordan, England, Saudi Arabia, ,none of these...
11. Which surrah start with out bismillah..
12.. 1st speaker of National assembly of pakistan....
13. 7x5-6x3x%2, ,solve according to DMAS ...
14. If 5x+9=29 then find the value of x..
15. Compute \72%82
16. 6 people complete work in 20 days, ,12 people complete the work in how many

..................

......... Sri Linka 5- Donald trump
kub president bana.............. 6-Un secretory general name........... Antonio Guterres
7-Hiran marnar kahan h............sheikhupura 8-icc trophy kahan hoi............ England 9-
H2S04 kaya hy...............acid 10-Jang ae badar me kitne log they.................. 313 muslims
and 1000 kuffar 11-Jang ae khabar kis k khilaf lari gai............. jews 12-zakat na daene
walon k against jang kis ne ki............ hazrat Abu bakar 13- Balochistan ko kub provonce

ka darja dia gaya.......
15-samundri lehren kub jthti he............full moon 16-Rainbow kese banti hy...............
to refrection 17- First general electioms kub hoe.............. 7 dec 1970 18-Saudia king
presnt............. Salman 19-Pakistan kitna percnt tax kam wapis pay karte hen . .....Iess than
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English mn noun pronoun verb adveb adjectives prepositions conjunction etc waghera ki
khsosn example ko prh k jae ga.almost 10 mcsq es sy related thy Mathematics k 20
questions thy jo k intihai easy thy.js mn sy ap jazar ka formula, msla fesa ghoris ka

formula ka bhi ilm huna chaheay
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L The plural of ‘child’ is:

(A) Childem (BL“ Children ©  (C) Childs @) Noneof these

The word score in counting means: _

(A)  Twenty . (B)  Sixteen ©)  Twelve D) None of these
3. A female barber is a:

(A) Chauffeuse (B) Barbarossa (C) Barbarella (@) None of these
4. Which of the following is grammatically correct? i

A v 2014, Sukkur Barrage withstand one hundred years of its li1€-
8 gyyzzomsukmsmgemm_mmwmfi‘gﬁhfﬁ:
(C) By 2014, Sukkur Barrage did withstood one hundred years ©
(D) None of these. Soning?
Which is the correct direct form of the sentence among the fo

)  The teacher said to me, “Go and do this exercise again.”

‘%&wmd’ﬂmﬁhoﬂdgoanddodmamqew 5

it-,-mwachersaidthat“lshouldgoanddothisaemue&m-

D) None of these.

T n

‘Which is the correct indirect form of the sentence among the f0 owing? 2
" (A) My father said to me, “Today is Friday. You should have go::vf;or Fndf:z m |

T (B) My father said to me that itwasFﬁdayﬂmdayandthnIshould 'fmel?rida mmﬂw.

~ (C) My father said to me that today is Friday and I should have gone for £ricay

(D) Nomeofthese.  Rana aamir raza-03344332394

The four seasons are: .
(A)  Spring, summer, autumns and winters (8) Spring, monsoon, autumn and wint
 (C) Spring, summer, autumn and winter (D) None of these

AN ‘?-, ‘ b ’ p h mﬁaw ! ‘ |
ahad:? at least six inches taller thanme. (B)  Fahad ls'nhasts'ixinchuulkmml
ad is at least six inch taller thanme. (D)  None of these.

A_ P TR " ., ‘ | .l . ¥
obiiloasl 4 et i il L
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e — ] g,
MW baoa o 4 |
o " ."""""m‘;"';gm 1 helves 375 boks are rranged i enc shet,
! ?zmwmm,;.. 23*3'4*(?+gm ()  Nooe of these
& o S .
86.  Find th ' © 12 ) Noneofthese
?gu;“ﬂ“mmdm&umuahﬁ_qmrmaua,na
A) 9072 504
2 e Z_.l_h ®) © 24 (D)  None of these
05T T
ay o =3 1
20 (B) 20 ©) 20 (D)  None of these
88. Simplify 1.1x10+(4.2-2)x3.7
(A) 19.14 ®B) 724 © 74 (D) None of these
89. 48 km & 600 nf + 21 km & 425 m isequalto:

(A) 80km&25m (B) 80km (C) 70km&25m (D) None ofthese
1 r hmeumrddu-s‘Candhdtanmum




Subscribe our Youtube channell youtube.com/PAKMCQS Official

tg Collec:isniuemedfonbeﬁxboobofﬂadidi (D) None s command o8
s mammmsnun)mwcwuumu under

(A) Hazrat Amir Hamzah(RA) ®) umudww(w

©) Mwsg:gm (D) None

‘What is Jazia in Islamic
e (A) A tax charged from non-Muslims (B) Wuboil_g'“

©) Aueh-gedﬁnmnnl;::wdme S (D) Noneo

Procedure of wazoo (ablution) is mentioned urah:
= (A) Al-Bagra ((B) Al-lngam  (C)  Al-Maidah (D) None of these
61.  In daytime the plants and trees absorb:

(A) Caxbon:;:xide(n) ox’ﬁr (C) Nitrogen (D) None of these
62.  Which gas is used to extinguish

(A) Oxygen b(:’)h;lydlm (C) Carbondioxide (D) None of these
63.  Parasitic roots gets £ _
. (A) W (8)  Soil (C) Otherplants (D) None of these

Peanuts are:

(A) Fritsonplants (B) Roos  (C) Leaves (D) Noneofthese

Can cause fire in building (D) None of these
66.  The water converts into ice at & temperature of:

T (A) $°C ~ (B) -#°C (C)y o0°C (D) None of these
67.  Which gas is used for cooling in air conditioners?

;':.,(A) Nitrogen ®) COo, (C) Ammoniagas (D) Nooe of these
~ 68.  What can be the melting temperature of ice?

-4°C (B) -3°C © o°cC (D) None of these
(B) Moon comes between sun and earth

(D) None of these
Rana aamir raza-03344332394
(B) Movement of earth
(D)  None of these
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1. Which sentence best describes the prolonged activity best? whole da¥.
(A)  The farmer drove his tractor all the day long, (B) The farmer drove his tractot the day
- mzmmmmm:m. (D) None of these.
Which one following expressions Mmm
A lm%&nwﬂwﬂ\hmm@)lmm\umﬁ“"""‘“
13 (\t\:')hlel‘!"' Mm“ uﬁnum-&-«llnmpuﬂ
sentences .
(A) ,b.:ndpg;dmmmm ") muwmmwm.
©) Zahea will pick flowers from the garden. (D) None of these.
14 wuehmdmemawmamﬂmuumnuumam
(A) The sun was nearly bright enough to worry you.
(B) The sun was at least as beight as on a winter day.
(C) Thesun was so bright that one felt one"s exposed skin buming.

None of these.
] wudoncofmronwhgmlmmmcmomeormm
(A) Thatnight it rained so heavily. (B)  Thatnight it rained cats and dogs.
(©) That night it rained very very much. (D) None of these.
The feminine gender of policeman is:

(A) Policewomen (B)  Policewoman (C) Zanana Police (D) None of these.
‘Which sentence represents the idiom correctly?
\) A bad workman quarrel withhistools. ~ (B) A bad workmen quarrels with his tools.
(C) A bad workman quarrels with histools. (D) None of these.
18.  Which sentence is grammatically correct?
(A) Sherlock Holms said, “Come on Watson! Game is afoot.”
'WWMSMWMWMM‘;“:@'
(C)  Sherlock xck Holms said, “Come on Watson, Game is a oot."
(D) Noneofthese. :
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30.

One Belt One Roag (OBOR) project of China:

(A Ispant of CPEC (B)  Includes CPEC in jt
©€)  Isnot linked with CPEC (D)  None of these
Xl)un (;I:oglkkuu become member of WTO?

(B) 2002 ©€) 1995 N
Current Chief Minister of Balochistan belon:s to: (E), wdias afttess

(A)  Pakistan Muslim League (N) (B)  Pakistan Muslim League
(C)  Balochistan Awami Party (D)  None of these &

Final match of PSL 3 (2018) was played in:

(A)  Karachi (B) Lahore (C) Dubai (D)  None of these
Currently the Political Party in power in Britain fs:

(A) Labour (B) Conservative (C) Liberal Democrat (D) None of these
(l;m world Cup 2018 is to be hosted by:

) Portugal (B)  Spain (©)  Russia (D)  None of these
W;nlda of the following countries is not a Republic?

(A)  Jordan (B)  Turkey (C)  Afghanistan None of these
Who won the 2017 1CC Champions Trophy? S

(A)  India (B)  Pakistan (C) Sri-Lanka (D) Noneofthese
a)om l:mlm- of members of SAARC fs:
! : | 7 ( 6 (D)  None of these
39, In 2018 Pakistan's Senate clections were lltcl?l for:
(A) 50 seats (B) 51 seats (C) 52 scats (D)  None of these
: istan Senate's election 2018 were held on:
o W Bh ) 2 Mk (0) 3% March (D)  None of these
a1 f(lg-nn‘mofmmammmmumm
] years (B 5 C)  Not fixed (D)  None of these
, ?2. 'The tenure of National )Ammby:y":f Plldnin)h: Rana aamir raza-03344332394
‘ (A) S years (B) 6 years (C) Notfixed (D) Noneofthese
. i Thﬂntdltﬂ‘duﬂommthebuhofulvuuhdukhuhﬁobuﬁmhddh:
(A) 1956 B) 1962 € 1970 (D)  None of these
Pakistan's last Census was held in:
(A) 2015 (B) 2016 (€) 2017 (D) None of these

According to the constitution of Pakistan, census should be held after every:

(A Syeans (B) 8 years (C) 10 years (D)  None of these
46.  When Pakistan became full member of ASEAN?

(A) 1985 - (B) 1988 (C)  Never (D)  None of these
47 / | Pakistan? A
o (B)  Ghulam Muhammad 4o
None of these : ol
48, King of India Qutab-ud-Din Aibak's tomb is in:

Chakwal (D) None of these ==

N o A (€) 1706 AD (D)  None of these
v Bl B A0 oo © Nmotine \
C A Misa () Al-Maidah (C)  Al-thgrat (D) None of theso \
52, WWMMMWW'IMIDE?MWMNM&“MM |
(C)  Hazeut Safiyya (RA) (D) None of these
53, (\x;.umumm h)couqnmd!rg; | (R'A) ‘_‘ ...;.

] " first rmmﬂ)mmmfzmm  Holy P
(A) A (RAY B) ot U (RA) (O ot Gsn (RA)
Which Plous Caliph had to face and fight against false claimers of Na ‘
(A)  Huzrat Umar (RA) . * Hazzt Abubaker (F .

©) wt}mm:)” (D) Nm“omq mls _—

~ o ew B dm O Quuh (@) Newofthes
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This is good ¢nough. one of these
(A)  Noun (B) +  Adjective () Adverd ®) .,

She laughed heartily. . these
(A): Intransitive verb (B) Transitive verb (C) Adverd (D) None of

1 like the new book.

{A)  Anicle (B): Adjective (C) Adverd @) None of these

PART-II (GEN, L INTELLIGENC

Select the correct answer and Fill in the appropria v @ont ver S

Which team of 3" PSL won the final trophy of 2018 in Karachi?

(A) Islamabad  (B) Quetta (C) Karachi (D)  None of these
Which Country's Head attended Pakistan Day's parade on 23" March 20187

(A)  Saudi King (B)  Turkish President

(C). Sri Lankan President (D) None of these

Who was the previous Chairman of Senate of Pakistan, (before the current one)?
(A) Raza Rabbani (B)  Raja Zafar-ul-Haq

(C) Saleem Mandviwalla (D) None of these

Who is the current Secretary General of UN?
(A). BanKi-Moon (B) Anténio Guterres (C) Koofi Annan (D)  None of these
The current US President (Donald Trump) was elected in:

(A) 2018 {(B) 2016 (C) 2017 (D) None of these
Who is the present King of Saudi Arabia?

(A) King Salman (B) King Abdullah

(C) King Talal bin Abdul Aziz (D) None of these

Who was the first lady representative of Pakistan in UN?

(A) Raana Liagat Ali (B) Begum Shaista Ikramullah

(C)- Maliha Lodhi (D)  None of these

Since 2018 President of Peoples Republic of China is now clected for a term of:

(A Sycars (B) Gyears (C)  Unlimited (D) Noneof these

Who is the Prime Minister of Britain?
(A) Thercsa May (B)- David Cameron (C) Gordon Brown (D) None of these
When Pakistan purchased Gwadar from Oman?

(A) 1958 (B) 1954 (C) 1953 (D) None of these

WTO stands for:

(A) World Transpon Organization (B8) Women Travellers Organization

(C)y World Trade € drganization (D) None of these

Balochistan's newly emerged political party is:

(A) Baloch-Pakhtun National Party (B)  Balochistan National Party

(C)  Balochistan Awami Party (D) None of these

T20 Cricket Matches between Pakistan and West Indies were played in April 2018 in:

(A) Kamchi (B» Lahore (C) Hydenabad (D) None of these

Total membership of US Senate is:

(A) 100 (B) 102 (C) 104 (D) None of these

Football is the most popular game in: 7
(A)s Europe (B) USA (C) SouthAsia (D) Noneof these ajd
Which of the following country is Republic? ?;
(A) Jordan (B)  Saudi Arabia (C) Briain (D) None of these

ICC Champions Trophy 2017 was held in:

(A) Australia (B)- Britain (C) Sri-Lanka (D)  None of these

Manchar Lake is located near:

(A)  Sehwan Sharif (B) Uch Sharif  (C) Taunsa Sharif (D) None of these -
Bascball is most popular game in: 5 3 \.) 3o
(A) EastEurope (B) USA (C) South Africa (D) None of these

1o Pakistan, the number of tax payers and return filers is less than:
(A) 1.3 million (B) 200 million (C) 25million (D) None of these
The tenure of the office of a Senator in Pakistan is:

(A) 4years (B) S years (C)- 6years (D) None of these
18 Amendment in the Constitution of Pakistan was passed in:

(A) 2009 (B) 2010 (C) 2011 (D) Nonc of these
When the first general clections were held under the constitution of 19567

(A) 1956 (B) 1957 (C) Never (D) none of these

2018
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